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Appendix B - Exhibition Questionnaire Results

Ranking [Agreement with Statements Average Score
1 Public amenities, such as the Library should continue to be located within the town centre. 1.82
2 Good quality buildings should be protected and enharnced and new buildings should be of the highest quality. 1.38
3 New development in the town centre should be designed to the highest sustainable standards. 1.3
4 Trees and green spaces should be introduced within the fown centre whenever possible. 1.1
5 Where sites are being redeveloped, care should be taken (o design out alleys and other spaces which might 1.1
attract crime,

6 Town centre development should be sensilive lo the Noel Park and Trinity Gardens conservation areas which 1.14
are adjacent to the town centre.

7 Smaller independent shops should be encouraged, especially in the southern half of the High Road to provide 1.10
a good mix of shops for everyone.

8 The different character of the areas within Wood Green town centre should be promoted, creating a variety of 1.05
shopping and leisure provision

9 The town centre should have wider, better pavements and safer crossing points. 1.05

10 Cars should be banned from using the High Road at peak shopping periods. 1.00

" Wood Green should continue to improve in order to attract major High Street retailers to the town centre. 1.00

12 Family friendly leisure uses should be promoted in the town centre. 0.95

13 East-west links to Haringey Heartlands should be improved, 0.91

14 There should be a gradual reduction in town centre parking to encourage people to walk, cycle or use public 0.86
transport.

15 Pavements should be widened to give more space to pedestrians and create a more relaxed shopping 0.86
environment.

16 There should be better faciliies on Ducketts Common with easy links to the High Road. 0.86

17 Deliveries to shops should be better organised and heavy vehicles discouraged from using the High Road 0.86
during peak hours.

18 Buses should be given more priority over cars to make them quicker and better to use. 0.68

19 A mix of different uses within new development (for example, flats above shops) will make the town centre 0.64
feel safer at all times of the day

20 The southern haif of the High Road should be promoted as a location for restaurants and cafés. 0.57

21 New development in the town centre should be high density and mixed use to take advantage of the excellent 0.29
public transport links.

22 I agree with the draft Vision for Wood Green 0.14

- Average 0.95

* 2 = strongly agree, 0 = neutral, -2 = strongly disagree

These average scores have been weighted (strongly agree = 2, neutral = 0 and strongly disagree = -2).
Therefore, a positive score which is greater than zero can be assumed to reflect a favourable rating.




